
15,ooo,om  - 1.600,ooo
=

1,2MooO

= 11.17 ¶llvl

15,ooo,ooo + 900,ooo (1 - 0.3)
=

1,200,ooo + 250,ooo

= 10.77

AC 409 1 1 1



Dividend yield

0 5-=
3 2

f 0.015

112

*2

AC 409

i



&l&.JWW6l6bdl%dfW  (Dividend payout ratio)

11,800,ooo  x 0.5
=

20.407

= 29%

alPnPllol~q+~B~M  (Book Value Per Share)
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515277,ooo  - 101,ooo*ooo
e:

11,800,ooo \

41437,ooo
=

11,800.ooo

t Y

XC 35.11 mmyu

114

?
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100,oQo

100,000

20,ooa

50,000

770,ooo
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166,000
=:

Loo0  ,

I *

= 166 lJlllPltl%pd
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zoo0
iihsiwwmuunidm4uXn  n .  = - = 20%

10,ooo

6BiDlslwnmQuLLnu%Q~l.l-~  41 =
cmw

= 20%
(lO,ooo>

20,~uii$n  n = - = 20%
100,000

20,ooo
u-%&l P = -

20,ooo  =
100%

u),ooo
$$$I A = - Z

lm@
2,000%

u-d 4 =
20,ooo

(20,ooo) =
t100961

118 AC409



la& : WYMUIM
auns’vc;

100

300

200

E!QQ
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200

100

300

200

600

10

2 0

AC 409



4.

6.

6.

7.

8.

9.

10.

200 + 100
4c4l_
300
1.3 : 1

anlId
4,ooo - 1.200

300
2,800

300
9.3 &kd

AC 409 121



&I
365 %

=
9.3 f6imuil

= 39.24 %d

365 '%
=

10 nr”Jdl

I *

= 36.5 ;iodmumk

1,ooo  + 12% (300)
=

12% (300)

I.000 + 36
=

3 6
1,036

=
36 ,

= 28.77 LYII
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700 - 5%(200) ‘
= wdfxwiiun

w)o
700900  - 10,ooo

= mvl
5,001)

690,000
=

5,ooo.
= 1 3 8 Yms;~~u~~u’ry

(2,006 x 110) + 5% (200,Qoo)
= mn

zoo0

230,ooo
=

2,ooo
= 116 ’ ’lJ?YlWflHU?fl

AC 409

(~ooo+500,ooo+10,ooo+20,ooo+70,ooo)-  (115x2@o)

~,~

8oo.ooo  - 230.600

5,ooo
570,ooo

= 114
5,m

1 2 3



700 - 5%(200)
= x 100

570
= 121 %

300-'=
800

= 0.375 : 1
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600

800

a!!2

1,000

100

..A46

u!?5

wm  : v%.mn

2539

2,400

lA!x!

900

2E!J

450

390

lu

2z3
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il39  =
273,000

100,ooo  =
2 . 7 3  .vli*$4

iI =
455,000

150$loo  =
3.03 uvk$d

il39 273,000=

1,345,ooo  =
20.30 %

6 4 0 = 455,000
2,300,000

= 19.78 96

il39 =
273,009

loO$oo =
1 .,ni*,

200,000
i140 = -

150,000 =
1.33 lmldw~u

Dividend Yield i] 39 = 2 = 6 %

ill  40
1.33

=
40

= 3.33 %
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i3  39

il 40

6.  h&d*~ml~udofll5

il 39

il 40

i?wvo~$o{u= Y
o’lU?U~Und*U”o”-lW.llU
1,345,ooo

=
lQo,ooo =

13.45 lJwli,l.+

2,300,OOO
=

150,ooo =
16.33 mlv&l

(Price - earning ratio)
. w

WlWliWHWp.l
=

fx5qnkoyw

20
=

2.73
40

=
3.03

= 7.33 : 1

= 13.20 : 1

iI39 =
273,000

2,745,OOO  =
9.96 %

?I40  =
455,ooo

3,500,000  =
13 %

7 .  fhin7~~~uiju~uu~  =
&d¶hN~WU

Rlbqnt

ii39 =
100,000

273,ooO  =
36.63 %

il40 =
200,ooo

455,ooo  =
43.96 %
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i.l  39
26.09%

34.78%

30.43%

&m/T!%

lQQ %

9 40

21.68%

37.94%

29.54% .

uGs4%

l Q Q %

2.05 :  1

2.88 :  1

il39 1,100,000=

900,ooo  =
1.22Y  1

d40 1.400.000= =
800,000

1.75 : 1

130 A C 4 0 9



=

d39 =

il40' =

340  =

2,400.000 = 4 f&B;89
+JOO+700.000)

3.000.000
= 4 F&D;Qil1

365- = 91.26  ?u
4

1.500,000 = 3.17 &&il
;(400,000  + 545,000)

1,600,000
= 2.67 flkvklil

+wIOO+7OO,~oI

A C 4 0 9 131



iI39  I
366  ;sM

=3.17

cl40 =
365 5id

=2.67

116 cu

142 ?u
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